MERCRUISER (465 [GEM. V) G 502%-31392-1934)
Serial Mbr Range: OCB43332 THRU OF 213244 ()

< FLvWwHEEL HOUSIMG [BRAWD PLUG - IN MODELS) b w
Ref |Clazs|Part Description Qt Comment Footnote
2 88791 MOUNT -Rubber-Flwwheel Houzin) 2

3 23 99322 SPACER-Rubber Mount-Flwwheel| 2

4 10 AVE1Z|SCREW [3/8-16 & 1-1/4")-Flywheel| 4

4 10 32132 | SCREMW [3/8-16 » 1-3/4")-Flyuheel| 1

5 16 B406E | STUD [2-3/4")-Flywheel Housing & | 2

f 11 32219 |NUT [3/8-16)-Flywhesl Housing At | 2

7 13 35048 | LOCKAWASHER [3/8"-Flywhesl He| 8

a2 12 20572 '"WASHER-Special (378" Housing £[1

| o} 78945)J CLAMPFlywheel Housing Stud |2

10 139304 3| COVER KIT 1 SERIAL 0CB43952-0D 725646

10 8187194 3|COVER EIT [\With Gasket) 1 SERIAL ODT25R47-0F 213244

12 10 32773|SCREW [1/4-20 % 7/8"-Cover to F| 7

13 a4 B28264 6| CABLE ASSEMBLY [Black) 2




